) REVIEW SHEET

@ Instructors may assign a portion
of the Review Sheet questions

using Mastering A&P™

“xencise The Microscope

Nameg

- Care and Structure of the Compound Microscope

1. Label all indicated parts of the microscope.

OCLLA{ BNV

Lab Time/Date

DorOUB AP Dipe.

COe PNNe 5

lnecindngal a7,

—’-‘mf%&
He el

TOOSAPN
e

SILDerk Zas2
\ -f}‘ﬂ‘-’

(7

2. Explain the proper technique for transporting the microscope.
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34 Review Shest 3

3. Each of the following statements is either true or false, If true, write 7 on the answer blank. If false, correct the statement by
writing on the blank the proper word or phrase to replace the one that is underlined.

ENY-Tee \ense

VCy The microscope lens may be cleaned with any soft tissue.
('DLU rg}‘f‘( O A0 ““Kf\‘, 2. The microscope should be stored with the gil immersion lens in position over the stage.
WAL 3. When beginning to focus, use the scanning objective lens.

@WCLDJVW 4. When focusing on high power, always use the coarse adjustment knob to focus.
W

5,

A coverslip should always be used with wet mounts.

4. Match the microscope structures in calumn B with the statements in column A that identify or describe them.
Column A

Column B
R e platform on which the slide rests for viewing a. coarse adjustment knob
b. condenser
_—D__ 2. used to adjust the amount of light passing through ¢. fine adjustment knob
the specimen d. iris diaphragm lever
- [ e. mechanical stage
2 3. controls the movement of the slide on the stage f. nosepiece
g. objective lenses
-
___D____ 4. delivers a concentrated beam of light to the specimen P N ?tcaLgI;lzr 185
_C’___ 5. used for precise focusing once initial focusing has
been done
£

6.  carries the objective lenses; rotates so that the differ-

ent objective lenses can be brought into position over
the specimena.

5. Define the following terms.

total magnification: 20 D) S ORI A DKM 20 Vel 1 MAan fird
o | D J
TO D oy ™M Ly

resolution: [d’{/bQ ﬂ\d \NTA D A< W\:‘(\ﬁﬁ& Al 1o I m\fl’\i D140 "Ea:'C\J{’LTC

Viewing Objects Through the Microscope

6. Complete, or respond to, the following statements:

Lx':oﬂf'ﬁmj diere.

The distance from the bottom of the objective lens to the surface of the slide is cal

the
PO(-\-l-\g lf@'(' 2. Assume there is an object on the left side of the field that you want to bring to the cer
(thatis, toward the apparent right). In what direction would you move your slide?
geld

3. The area of the slide seen when locking through the microscope is the

qs

If a microscope has a 10X ocular lens and the total magnification is 950, the objective ler

use at that time is x,
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Review Sheet 3 35

ey
> A A
\LICL_ELCOJHL'C; 5. Why should the light be dimmed when loaking at living (nearly transparent) e I5?

\\{-QCC&\‘ 6. If, atter focusing in low power, you need to use only the fine adjustment to focus the specimen

at the higher powers, the microscope is saidtobe

Hﬁi—— 7. You are using a 10x ocular and a 15% objective, and the field diameter Is 1.5 mm, The ap-

proximate field size with a 30X abjective is mm.
"_“'—{j———-—-—— 8. If the diameter of the low-power field is 1.5 mm, an object that occupies approximately a third
of that field has an estimated diameter of mm.

You have been asked to prepare a slide with the letter £ on it (as shown below). In the circle below, draw the F a5 seen in the

low-power field.

8. Estimate the length (longest dimension) of the ebject in um:,

Total magnification = 100x

Field diameter — 1.6 mm
Length of object = “:)Q'rl rm
Say you are observing an object in the low-power field. When you switch to high power, it is no longer in your field of view

G\l CeRe ANO ALy qumfnc*ajwom OOCALeS.

Why might this occur? JQ"\Q
Ly a0, O "\‘f \( Lo S OCNCN 1\“\‘\"\"\\‘\\\‘ e Clsde

What should you do initially to prevent this from happening? _| \ \\YCJ Qz\\.( (\‘\r} \iC/’r Uﬁ DYy

RENEVIK LY,
Do the following factors increase or de&rease as one moves to higher magnifications with the microscope?
amount of light needed: _- VYL

working distance: e A 7 depth of field: {\ﬂq?‘f(\ :__\ﬁ

1. A student has the high-power lens in position and appears to be intently abserving the specimen. The instructor, nating a work
ing distance of about 1 cm, knows the student isn't actually seeing the specimen,

YOO Gy i \n Q NS oy C\DHC

10.

RO L FRASETE

resolution:

W o -
k. e

How so? "“‘ﬁ X “D( (2 -"\";}.H.'
Dlmm
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! 35_ Review Sheet 3

12. Describe the proper procedure for preparing a wet mount,

Pace Wi =Qetenan o0l side. 139N avredicine Mp(RACor Place
2 &l oadry o =Ahne onlng 2hde . My @™ van mm_ﬁmgb_uém_‘l_——

Q-EO-“'\D@»’-\ Hold @ COLYILD (31n SyraDs <o UnatGing_ Lol TUCho S O Liide
L N COLYSHO ONTD SREIMean.

s during use of a microscap )
OO O

ing Cinran droPe Spwd (0her
13. Indicate the probable cause of the fo:ﬁ%wmg situation

3. Only half of the field is ifluminated: “Thi_ \CNDY 14 AT CDQfC()T\b(

Qace
b.  The visible field does not change as the mechanical stage is moved g‘%\ﬂ, ﬁ\\ \(\(’ [ire! W CDVIT()ﬁU\

10 e ClamE oN Ial ywatinan. ol ~TQae. 6,.

aria. In patiants with malaria, the protozoa can be found near and inside red blood
e needed to diagnose malaria.

Dﬁ-‘ﬁ\"ﬁ@:\@
14, nA blood smear is used to diagnose mal
cells. Explain why a microscope capable of high magnification and high resolution would

bU\ Ok mhﬂo\ (i mmmrcdﬁq\,m divm ’YOVC(DC\Y\HO M0\ levon onitn
AlLTIAD r\{);ho(‘mOf\ nL DM Anage AN ~WrUIUE.
s. Why are thin

E3 Histopathology is ‘[he use of microscopes to view tissues to ‘diagnose and track the progression of disease

slices of tissue ideal for this procedure? RN u/\/‘\\r\ L}\ e MNath [L(lhe, Hoanl
AN AN P adien” O TG Wl \ﬂ"fﬁ\’ﬂ&ﬁ At aNd
CONElrY 3 OGN0 WL Braase
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@ Instructors may assign a partion
of the Review Sheet questions

using Mastering A&P™

| REVIEW SHEET
cxeacise The Cell: Anatomy and Division

—

Name Q‘(\ f“ﬁ\f—f{ Of"’fl Lab Time/Date Tlf‘“{\d\ﬁﬁ N 2=

Anatomy of the Composite Cell
1. Label the cell structures using the leader lines provided. 3 ,
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48 Review Sheet 4

2. Match each cell structure listed on the left with the correct description on the right.

?

1. nbosome ‘q\ main site of ATP synthesis
_L 2, smooth ER ™b.  encloses the chromatin
A N -
—— 3. mitechondrion & sac of digestive enzymes
&) -
4, nucleus \\\d\\ examples include glycogen granules and ingested foreign materials
N 5. Golgi apparatus ~e. forms basal bodies and helps direct mitotic spindle formation
C— 6. lysosome "f:‘ site of protein synthesis
™ 7. centriole ~g. forms the external boundary of the cell
= !
= 8. cytoskeleton i, site of lipid synthesis -
T—\" 9, inclusion . i packaging site for ribosomes
Pa' (R TES
&, 10. plasma membrane %, packages proteins for transportation
— L 1. nuceols "k internal cellular network of rodiike structures

Differences and Similarities in Cell Structure

3. Choose the specimen observed in Activity 5 (squamous epithelium, sperm cells, smooth_muscle, or human red blood cells)
that fits the description helow.

= .
1. u(\‘ﬁﬁ\r cell has a flagellum for movement
S i \l
2. ’Dﬁ“OCS« M cells have an elongated shape (tapered at each end)
~ AT OO
3. 2oWrehir cells are close logether
‘ i

MU man Mi\ !'D\lm cells are circular

5. SAUAQONDUA cells are thin and flat, with irregular borders
Ay N pud YEoms
_ LLINA

B

cells are anucleate (without a nucleus)

: fﬂﬁ&% W‘U fﬁ‘)ﬁ longest cell

|

Cell Division

4, What is the function of mitotic cell divisicn?. \J\ /“3 {Uﬁ(\mm\*\' ﬂm\\{\ﬁf‘ﬁ, f'( Q&-\V i
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5. !dent!fy the four phases of mitasis shown in the following photomicragraphs, and select the events from the key that correctly
identify each phase. On the appropriale answer line, write the letters that correspond to these events,

The nuclear envelope re-forms. ,
Chromosomes line up in the center of the cell.,
Chromatin coils and condenses, forming chromosomes.
Chromosomes stop moving toward the poles.

The chromosomes are V shaped,

The nuclear envelope breaks down,

Chromasomes altach to the spindle fibers.

The mitotic spindle begins to farm.

ARIS A

L

' B Ty e
" --".".‘.I-' I 4 Phase‘l ) ‘EJ{'\\;Q’\('L}Q
— ’ N
Events. LI N
6. Draw the phases of mitosis for a cell that contains four chromosomes as its diplaid, or 2n, number. —NCM’Q’{U_\,?
o~

r’;ﬂ’f){@m'%

QIR f"’}; 1728NgC 9@@%’%’
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7. Describe the events that occur during interphase.

TNEH'Q}:‘L-\\;@ OO a Ledl Cartcd ot to moval ywldabolC

A RS ang qmm’ YL DA Lomcarmng Matcnald in W oym of

CADNI NN Nae NLCVeay oo art tATA(Y + Ovaane,
8. Complete or respond to the followmg statements:

Division of the __1__ is referred 1o as mitosis. Cytokinesis 1 )\JU(',lﬁU-/l\)
is division of the _2 . The major structural difference
2 _OYA0OANM

between chromatin and chromosomes is that the latter
are _ 3 . Chromosomes attach to the spindle fibers by

undivided structures called _4__. If a cell undergoes mito- 3, CO{\‘d (J "'trf d,

sis but not cytokinesis, the product is __ 5 . The structure

that acts as a scaffolding for chromosomal attachment and - n"‘\ T~
; . . s , g _~

movementiscalledthe _6 ._ 7 s the period of cell life & Ccm “’m rC :

when the cell is not involved in division. Three cell popula-

tions in the body that do not routinely undergo cell division 5. @ﬂw‘_/\t‘idﬁ@ Can
K . _OONAC

. Tyl
=\heletal MAL \e.
_Cavedad . pUstle,
10. J\\(: ATV Iy

9. I3 Plasma cells are key to the Immune response because they secrete antibodies. Given that antibcdies are made of protein,

e

uw

which membrane-enclosed cell organelle would you expect the plasma cells to have in abundance? Why? - boé(:*"l@fj

!-’W’ f[LH A0 s e, Qb v (e 08 2 S L SR e (G ff( AONCUNT
i
o> oM.
10. Name which organelle you would expect to play the largest role in decomposition of the human body. Why?
L' IF-\-. m-’LC"" , .r Er ?I"L '.J',‘,zl', 'l’., -\i“,_- o J -7'5.'—

11. EA some antifungal medications wcﬁrk by blocking DNA syLmhesis in the fungal cell. Describe where in the cell cycle such a medi-

cation would halt the fungal cell and the consequences of this early termination of the cycle. T U 2% 14 (\l A NG

OO ONA %L b)) SCOEER. o) DI €Oy g
SNV & i A,
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